_ Addition.

Choase one or both First Set
of the sets of sums
ARl 1. 23+15= 14. 800 + 136 =
answers, 2, 26 +23= 15. 65+ 43 =
o o iegmmopp: 3. 25+23= 16. 600 + 77 =
site colour each area
which contains one of 4, 52 +26 = 17. 700 + 82 =
the answers.
5. 32.+.22 = 18. 460 + 433 =
What do you see?
6. 45 + 38 = 19. 600 + 178 =
7. 50+ 42 = 20. 800 + 120 =
8. 62 +38= 21. 700 + 125 =
9. 50+ 51 = _ 22. 800 + 198 =
10. 200 + 50 = 23. 690 + 109 =
11. 300 + 300 = 24, 475 + 450 =
12. 900 + 83 = 25. 500 + 400 + 99 =
13. 410 + 315 =

2
L]
Second Set 0
1. 32 +12+10= 14. 223 + 322 + 454 =
2. 37 +14 +50 = 15. 155 + 357+ 213 = D
3. 45433450 = 16. 234 + 152 + 214 =
4. 16+ 10+12 = 17.. 821 476 +23 = 0
5. 434244 25= 18. 149 + 376 + 458 = D
6. 96 + 82 + 72= 19. 211 + 465 + 123 =
7. 134 11 484 = 20. 480 + 26 + 272 = 0
8. 22+13+14= , 21. 245+ 366 + 314 = ~
9. 384+ 41+29= 22. 369 + 425 + 99 = D
10. 32 +27 + 19 = 23. 98 + 186 + 393 =
. 28+ 28452 = 24. 238 + 153 + 545 = The answers of both
sets of sums are the
12. 3855 + 272 4+ 198 = 25. 179 + 236 + 367 = same, but nat in the
same order.

13.

915 + 123 + 360 =




Puzzle Picture 1

.+ Addition
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